ECE 2210/ 00

Exam 1 Information

Useful Information '247 B
KCL, Kirchhoff's Current Law |5 KVL, Kirchhoff's Voltage Law +
lin = 1oyt of any point,_ —= = Vv gains Vv drops  around E‘] O E::|
part, or section J7|4 1 <} anyloop - =
—= —= D

Node = all points connected by wire,
all at same voltage (potential)

Ohm's law (resistors) "T\; | = \4 Power Py = Pgoyt forresistor circuits
' R [N QuUT P = V-l for everything
V= IR Y 2
\VJ = — \% .
1P rR= % _|;|[}T ﬂ_:[}'_ = I2R = " forresistors
' contribute dissipate R
Maximum power transfer: R| = Ry
Load = Thevenin's
Resistors S P e e Voltage divider : .
L _ Exactly the same _ n
series:  Req = Rp+Rp+Rg+... current through each VR Vo Rl+R—2+R3+
resistor T
arallel: R = o
P L ] 1 1 current divider : 1
P e - Exactly the same R
Ro R3 n
voltage across each 'rRn = ltota

: 1 1 1
resistor — o
Rq1 Ry Rg

Superposition and Thevenin

To zero out a source: Voltage source =>short Current source => open

Basic AC =it 1
1 A lamplitde r= T om
Youe™ Yoe; N e @= 27 ¢ = —%-360-deg
| ‘ ‘ v(t)= V p-cos(oo-t+ 0)
I , period, T | current is similar
Capacitors series - Ceq _ 3 1 3 . )

parallel : Ceq = Cq1+Cor+Cg+...



